19.16 A small bob is attached to a cord of length 1.2 m and is released from
rest when 8, = 5°. Knowing that d = 0.6 m, determine (a) the time
required for the bob to return to point A, (») the amplitude 6.
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18.107 A uniform thin disk with a 6-in. diameter is attached to the end of a
rod AB of negligible mass that 1s supported by a ball-and-socket joint
at point A. Knowing that the disk is observed to precess about the
vertical axis AC at the constant rate of 36 rpm in the sense indicated
and that its axis of symmetry AB forms an angle f = 60° with AC,
determine the rate at which the disk spins about rod AB.
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